ADDING AND SUBTRACTING MONEY
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Here are some toys with their price tags on them. Do ¢n berk g N
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Add and find the total How much do l_get back if %
cost of S !
‘ BIQ %
1 ball T 18 I give X A0 |
1 car +3 £ 5  Ibuylball -z |8 |
TOTALCOST T S5 I get back T 4 2
g 1 helicopter X 4 2 I give X 5 8
s , |
% eLteddy bear +% 1 3 I buy 1 helicopter — ¥ <+
TOTAL COST X = 4 I get back T 08 ;
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1 doll X 32 I give R 95 0 |
<
1 ball +T | P I buy 1 doll -3 32 |
TOTALCOST % 5 0 I get back | : & 8




EXERCISE 13.2

A. Read and solve. Do &n boo k @nd
530 Y] T T

Monty bought a packet of crayons and a dinky car.
How much did he spend?

Monty spent ¥ 95. (&

~ Arun had X 62. He bought a box of masks.
How much money does he have left?

T - 5.5
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Mohit bought a sticker sheet. He gave I 50. "
How much money was returned? | > 0
| - 4§
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Mohan bought a sticker sheet. Damini bought a ball.
Who spent more and by how much? ’ 4 %

Mrhan gpend mbﬁ-ﬁ-_...bdgﬁl,t,

James bought a lion mask and a ball.
How much money does he have to pay?

He has do poU T80 | B
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